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Note : Do any ten questions. In all questions 

requiring reasons to be given, marks are 

for the correct reasons only. 

1. Give an example each in support of the 

following statements : 10 

 (i) Each child is an individual. 

 (ii) Doing Mathematics involves several 

mental processes. 

 (iii) Process diagrams in text-books are 

often confusing to children. 
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 (iv) Puzzels play a role in the learning of 

Mathematics. 

 (v) Children do not learn from blindly 

copying adults. 

2. (a) Describe the process of scaffolding in 

the context of a child learning about 

symmetry. 4 

 (b) Give three abilities that a child develops 

in the process of ‘exploring numbers’. 

Also explain your choice of abilities. 6 

3. (a) What are the typical features of young 

children’s abilities to deal with maps ? 

Suggest an activity to help children of 

class 4 draw maps better. 4 

 (b) Give three situations with justification– 

one in which the mean represents the 

data best, one in which the median 

represents the data best and one in 

which the mode represents the data 

best.  6 

4. (a) Describe Vygotsky’s views on factors 

affecting a child’s learning. Explain 

them in the context of a child in a rural 

school learning about negative 

numbers. 4 
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 (b) Give three reasons why Mathematics 

should be a part of primary school 

curriculum. Also give three distinct 

examples in support of your answer. 6 

5. (a) What does ‘the ability to conserve’  

mean ? Give two crucial pre-requisite 

abilities that a child should have for 

this ability. Explain your answer in the 

context of ‘conserving volume’. 4 

 (b) Explain the process of ‘particular to 

general’ and ‘general to particular’. 

Your explanation should we examples 

pertaining to two-dimensional objects. 6 

6. (a)  What is the difference between 

conceptual and procedural knowledge ? 

Explain this using an example 

pertaining to the addition of decimal 

fraction. 4 

 (b) In the context of a child’s schema, 

explain, with the example pertaining to 

learning about tesselation, what is 

meant by the following : 6 

  (i) Assimilation 

  (ii) Accommodation 

  (iii) Elaboration 



 [ 4 ] LMT–01 

D–3456/LMT–01 

7. (a) If you are a constructivist-oriented 

teacher, give three distinct ways in 

which you would assess the 

understanding of subtraction of 

fractions of a class 4 child ? 6 

 (b) What is a frequency table ? Give an 

example of a context in which class 3 

children would make a frequency table. 

Give such data, the corresponding 

frequency table and how this could be 

presented as a bar diagram. 4 

8. List five important points to keep in mind 

while designing an activity on children. 

Illustrate them in the context of an activity 

designed for helping children interpret data. 

 10 

9. What do the following terms mean ? Also 

give an example of each : 10 

 (i) Axiom 

 (ii) Algorithm 

 (iii) Theorem 

 (iv) Representation 
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10. (a) Explain three ways in which a teacher 

can generate a culture of mathematical 

reasoning in the classroom. Illustrate 

them in the context of learning about 

‘chance’. 6 

 (b) What does a teacher lose by not looking 

carefully at ‘errors’ made by her 

learners ? Your answer should include 

an example pertaining to learning to 

order decimal fractions. 4 

11. List the steps involved in solving a 

mathematical problem, as suggested by 

Davis and Mayer. Illustrate these steps 

clearly while solving the problem below : 

 There are 40 children in a pre-school group. 

These children can speak in either of two 

languages–Tamil or English. 35 children can 

speak in Tamil while 10 can speak in 

English. How many children can speak both 

languages ? 10 
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izkFkfed fo|ky; xf.kr ds v/;kiu esa 

izek.k&i= dk;ZØe (lh- Vh- ih- ,e-) 

l=kar ijh{kk  

twu] 2025 

,y-,e-Vh-&01 % xf.kr lh[kuk 

le; % 3 ?k.Vs   vf/kdre vad % 100  

      Hkkfjrk % 70% 

uksV % fdUgha nl iz'uksa ds mÙkj nhft,A ftu iz'uksa esa dkj.k iwNs 

x, gSa] muesa dkj.k lgh gksus ij gh vad fn, tk;saxsA 

1- fuEufyf[kr izR;sd dFku ds i{k esa ,d&,d mnkgj.k 

nhft, %   10 

 (i) izR;sd cPpk nwljs cPps ls vyx gksrk gSA 

 (ii) xf.kr djus esa dbZ ekufld izfØ;k,¡ 'kkfey gksrh 

gSaA 

 (iii) ikB~;&iqLrdksa esa fn, x, izfØ;k fp= cPpksa ds fy, 

vDlj mYya?kuiw.kZ (Hkzked) gksrs gSaA 

 (iv) xf.kr lh[kus esa igsfy;k¡ egÙoiw.kZ Hkwfedk fuHkkrh 

gSaA 
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 (v) cPps vk¡[k ew¡ndj cM+ksa dh udy djds ugha 

lh[krsA 

2- (d) lefefr ds ckjs esa lh[kus okyh cPph ds lUnHkZ esa 

epku dh izfØ;k dk o.kZu dhft,A 4 

 ([k) ̂ la[;kvksa dh [kkstchu* dh izfØ;k esa cPph tks rhu 

{kerk,¡ fodflr djrh gS] og crkb,A vkius ;s 

{kerk,¡ D;ksa pquha bls Hkh Li"V dhft,A 6 

3- (d) uD'kksa dk iz;ksx djus ds fy, NksVs cPpksa dh 

{kerkvksa esa tks [kkl fo'ks"krk,¡ gksuh pkfg,] og 

crkb,A d{kk 4 ds cPpksa dks uD'kksa dks csgrj :i esa 

cukus esa enn ds fy, ,d xfrfof/k lq>kb,A 4 

 ([k) iqf"V lfgr ,slh rhu fLFkfr;k¡ crkb,µ,d ftuesa 

ek/; vk¡dM+ksa dks mÙke :i ls fu:fir djrk gSA 

,d ftlesa ekf/;dk vk¡dM+ksa dks mÙke :i ls 

fu:fir djrh gS vkSj ,d ftlesa cgqyd vk¡dM+ksa 

dks mÙke :i ls fu:fir djrk gSA 6 

4- (d) cPps ds lh[kus dks izHkkfor djus okys dkjdksa ds 

lEcU/k esa ok;xksRLdh ds fopkjksa dk o.kZu dhft,A 

,d cPph ds xzkeh.k Ldwy esa ½.kkRed la[;kvksa ds 

ckjs esa lh[kus ds lUnHkZ esa bUgsa Li"V dhft,A 4 
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 ([k) xf.kr izkbejh Ldwy dh ikB~;p;kZ dk fgLlk D;ksa 

gksuk pkfg,] rhu dkj.k crkb,A vius mÙkj ds i{k 

esa rhu vyx&vyx mnkgj.k Hkh nhft,A 6 

5- (d) ̂ laj{k.k dj ikus dh {kerk* dk D;k eryc gS \ 

bl {kerk ds fy, cPps esa dkSu&lh nks egÙoiw.kZ 

iwokZis{kk,¡ gksuk t:jh gS \ ^vk;ru dk laj{k.k 

djus* ds lUnHkZ esa vius mÙkj dks Li"V dhft,A 4 

 ([k) ̂ fof'k"V ls O;kid dh vksj* vkSj ^O;kid ls 

fof'k"V dh vksj* dh izfØ;k dk o.kZu dhft,A 

vkids Li"Vhdj.k esa f}foe oLrqvksa ds mnkgj.k 

'kkfey gksus pkfg,A 6 

6- (d) vo/kkj.kkRed vkSj izfØ;kRed Kku ds chp D;k 

vUrj gS \ n'keyo fHkUuksa dh tek ls lEcfU/kr 

,d mnkgj.k }kjk bls Li"V dhft,A 4 

 ([k) cPph dh Ldhek ds lUnHkZ esa Vsflys'ku lh[kus ls 

lEcfU/kr ,d mnkgj.k nsrs gq,] Li"V dhft, fd 

fuEufyf[kr dk D;k vFkZ gS \ 6 

  (i) lfEeyu 

  (ii) lek;kstu  

  (iii) foLrkj 
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7- (d) ;fn vki jpukoknh f'kf{kdk gSa] rks d{kk 4 ds cPpksa 

dh ?kVk dh le> dk vkdyu vki fdu rhu 

vyx&vyx rjhdksa ls djsaxs \ 6 

 ([k) ckjEckjrk rkfydk D;k gS \ d{kk 3 ds cPps 

ckjEckjrk rkfydk dSls cuk,¡xs] bl lUnHkZ ls ,d 

mnkgj.k nhft,A ,d ,slk vk¡dM+k vkSj blds laxr 

ckjEckjrk rkfydk nhft, vkSj crkb, fd bls LrEHk 

vkys[k esa dSls izLrqr fd;k tk ldrk gSA 4 

8- cPpksa ds fy, xfrfof/k rS;kj djrs le; /;ku j[kus ;ksX; 

ik¡p egÙoiw.kZ ckrksa dks lwphc¼ dhft,A cPpksa dh 

vk¡dM+ksa ls fu"d"kZ fudkyus esa enn ds fy, rS;kj dh xbZ 

xfrfof/k ds lUnHkZ esa bls Li"V dhft,A 10 

9- fuEufyf[kr 'kCnksa dk D;k vFkZ gS \ izR;sd dk ,d&,d 

mnkgj.k Hkh nhft, % 10 

 (i) vfHkx`ghr 

 (ii) ,sYxksfjn~e 

 (iii) izes; 

 (iv) fu:i.k 
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10- (d) ,sls rhu rjhds crkb, ftuds }kjk f'kfZ{kdk d{kk esa 

xf.krh; ekgkSy rS;kj dj ldrh gSA ^lEHkkouk* ds 

ckjs esa lh[kus ds lUnHkZ esa bUgsa Li"V dhft,A 6 

 ([k) vius fo|kfFkZ;ksa }kjk dh xbZ ^xyfr;ksa* dks 

/;kuiwoZd u ns[kus ij f'kf{kdk dks D;k uqdlku gks 

ldrk gS \ vkids mÙkj esa n'keyo fHkUuksa dks Øe 

esa j[kuk lh[kus ls lEcfU/kr ,d mnkgj.k 'kkfey 

gksuk pkfg,A 4 

11- xf.kr dk loky gy djus ds fy, Msfol vkSj es;j }kjk 

lq>k;s x, pj.kksa dks lwphc¼ dhft,A uhps fn, x, 

loky dks gy djrs le; vki bu pj.kksa dks Li"V :i ls 

crkb, % 

 ,d LdwyiwoZ lewg esa 40 cPps gSaA os nks Hkk"kk,¡ cksy 

ldrs gSaµrfey ;k vaxzsthA 35 cPps rfey cksy ldrs gSa 

tcfd 10 cPps vaxzsthA fdrus cPps nksuksa Hkk"kk,¡ cksy 

ldrs gSa \   10 

× × × × × 

 

 

 


